Policies Essay Plans

	1)  Fiscal policy, how can they affect unemployment/ inflation/ economic growth/ current account

	Level 1 
Knowledge
(1-4)
	- Fiscal policy is a government policy which focuses on government spending and tax revenue to influence Aggregate demand and achieve macroeconomic objectives.
- This includes the government budget which contains tax revenue and government spending

	Level 2
Application
(5-8)
	- If AD is low; government may use reflationary, expansionary, loose fiscal policy
- This is when government reduces taxes and increases government spending
- Explain how this affects unemployment/ inflation/ economic growth/ current account
Draw diagram of AD shifting right
Or vice versa for deflationary/ contractionary/ tight

	Level 3 
Analysis 
(9-12)
	- The government may lower direct taxes for example income tax, therefore consumers can more disposable income, consumption increases, AD increases
E: However depends on confidence level & interest rate and magnitude of cut in tax
 
-  Decrease in corporation tax; firms have more retained profit, more spending on capital goods/ machinery, investment increases, AD shifts right 
E: However depends on state of economy and other factors such as high interest rate

- Decrease in VAT (indirect tax), firms have lower costs of production, spending on capital goods increases, investment increases, AD shifts right
However depends on factors such as interest rate and magnitude of cut

-  Increase in government spending; g is component of AD therefore AD will increase
Also more welfare payments to households will increase consumption
Also more subsidies will increase investment
E: However depends on other components of AD 


	Level 4 
Evaluation
(13-18)
	Evaluation done above
EE: 
However, taxes are leakages, therefore real GDP decreases at a faster rate due to multiplier effect
However, government spending are injections, therefore the economy grows at a faster rate due to the multiplier effect



IF AD is too high; government uses deflationary, tight, contractionary policy (opposite of above) 
1) Increase direct taxes- income tax
2) Increase indirect taxes- vat
3) Increase corporation tax
4) Decrease government spending 






	2)  Monetary policy, how can they affect unemployment/ inflation/ economic growth/ current account

	Level 1 
Knowledge
(1-4)
	- Monetary policies involve the MPC (monetary policy committee) setting interest rates to achieve low and stable inflation 
- Interest rate is the cost of borrowing and the reward of saving
- Monetary policies involve interest rate, exchange rate, and money supply 


	Level 2
Application
(5-8)
	- If AD is low; government may use reflationary, expansionary, loose monetary policy
- This is when government reduces interest rate 
- Explain how this affects unemployment/ inflation/ economic growth/ current account
Draw diagram of AD shifting right
Or vice versa for deflationary/ contractionary/ tight


	Level 3 
Analysis 
(9-12)
	If interest rate is low:
1) consumers can borrow at lower rate- consumption increases, AD increases
2) Firms can borrow at a lower rate- investment increases AD increases
3) Lower interest repayment on mortgage and loans, more disposable income, more consumption
4) Less incentive to save as less return on savings

Lower interest rate lowers the exchange rate. Lower interest rate means less expected rate of return- less hot money from abroad and less FDI, therefore less demand for our currency and low value of currency 

Alternatively; the bank of England can use quantitative easing. This is the electronic transfer of moeny from the Central bank to commercial banks. In return, the central bank buys financial assets from commercial banks to pump more money in the banking system


	Level 4 
Evaluation
(13-18)
	However, it depends on magnitude of cut in interest rate,
time lag
confidence level
Also mortgage payments could be fixed- interest rate won’t affect mortgage


















	3)  Supply side policy, how can they affect unemployment/ inflation/ economic growth/ current account

	Level 1 
Knowledge
(1-4)
	supply side policies are designed to increase AS 
supply side policies seek to increase the efficiency of labour and product markets
Supply side policies aim to improve the quality and quantity of factors of production

	Level 2
Application
(5-8)
	supply side policies should shift the AS curve to the right and so raise real GDP and lower the price level. 
supply side policies are designed to increase productive capacity. Having more or better quality resources increases the amount an economy can produce 

	Level 3 
Analysis 
(9-12)
	an AD/AS diagram may be used, showing the AS curve shifting to the right with some supporting statements 
education and training may increase labour productivity, which could lower costs of production and so reduce cost-push inflation 
cutting income tax and reducing state benefits may increase the incentive to work and encourage enterprise and effort. If the number of hours worked increases, AS will shift to the right 
a cut in corporation tax may increase the ability and willingness of firms to invest. This will increase productive capacity. 
Lowering trade union power- making it easier to hire workers, therefore lower costs of productions and more jobs
Deregulation- less regulation on firms, more firms, increase in jobs
Privatisation- moving firms from public to private sector- better efficiency, more competition and more jobs 

	Level 4 
Evaluation
(13-18)
	- supply side policies, including education and training, may take years to have an influence on productivity and so on aggregate supply 
- supply side policies, including education, training, government subsidies may be expensive and government expenditure on them will have an opportunity cost 
- there is no guarantee supply side policies will work. For instance, privatisation may or may not increase efficiency and cut costs 
- supply side policies can make economic growth more sustainable and enable AD to increase without generating inflation 
- supply side policies may have no impact on the price level if the economy is already operating with considerable spare capacity. 



• discuss how effective fiscal, monetary and supply-side policies are in achieving the government’s macroeconomic objectives; 

Discuss the reasons for, and consequences of, possible conflicts between policy objectives; 
- Economic growth vs low Inflation; If an economy grows too quickly, due to consumer expenditure then Aggregate demand increases at a faster rate than aggregate supply, resulting in demand-pull inflation
- Economic growth vs Balance of payments- high growth increases exports which worsens current account to worsen 
- Low unemployment vs Inflation- If government is trying to reduce unemployment it will increase wages, therefore costs of production increases, AS shifts right, resulting in cost-push inflation
- Economic growth vs environment and sustainability- faster growth means more production therefore increase in pollution, depletion of non-renewable resources threatening sustainability 
